Given the balance sheet and income statement for Simmons Maintenance Company, compute the ratios that are also shown for the industry average. 
- A) For each of the 13 ratios listed below: 
· Calculate the ratio for Simmons. Please number your ratios to ensure you answer all 13. 
· Assess each company ratio versus each industry ratio and state whether each ratio is (B)etter or (W)orse than the industry average. 

- B) Then, to recap, write a sentence or two stating your assessment of the company's financial health.
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SIMMONS MAINTENANCE COMPANY

Balance Sheet
Assels Lisbilities

Cash $ 15,000 | Accounts Payable
Accts. Recevable 22,000 | Notes Payable
Investory 30000 | Accrued Expenses
Current Assets 67,000 | Current Liabilites
Net Fized Assets 80500 | Long-term Debt

Stockholders' Equity

Total Assets $147,500 | Total Liabilties & Stockholders' Equity

Income Statement

Sales (all on credit)
Less: Cost of Goods Sold

Gross Profit
Selling and Adminisirative Expense 0,000
Rent Expense (Lease) 000
EBIT

Interest Expense
Eamings before taxes
Taxes (@ 25%)

Net Income.

Common shares oustanding
EPS

$140,000
85,000
55,000

28,000
27,000
5000
22,000
5500
$716,500

15,000
$ 110

$ 21,000
20,000
5000
46,000
30,000
71500

$147,500
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Ratio

1. Profit margin

2. Return on assets

3. Return on equity

4. Receivables tumover
5. Avg collection period
6. Inventory rmover
7. Fixed asset tumover
8. Total asset turnover
9. Current ratio

10, Quick ratio

11, Debt to total assets
12. Times interest carmed
13. Fixed charge coverage

Ratios for Industry
Simmons Average

175%
208%
3%
44x
63.0 days
35
24x
6z
128
85
45
12.0x
36

Better (B) or
Worse (W)




